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Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) g in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
L*(Ch) g w=95, 0, 0&100

rgb*w=1, 1, 1 . 9steps L*(Ch) o r=67, 64,34
| b rgb*g=1, 0,0
red R
9 steps
black N
L*(Ch) ag =0, 0, 0
rgb*\=0,0,0 ¢ 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitég=0,0, Y,,=88,6

CIELAB ligthness L*

white W
L*(Ch) ag w=95, 0, ogloog steps
rgb*w=1, 1, 1 T yellow Y
: / rgb*y=1,1,0
9 steps L*(Ch) ap,y=88, 71,92
black N

L*(Ch) ag =0, 0, 0 9 steps
rgb*=0,0,0 ¢ 100

0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,2, Yywn=79,9, Yz4=18.

_ CIELAB ligthness L*

white Wy,
L*(Ch) agwn=91, O, L*(Ch) ag =67, 64,34
rgb*wn=1, 1, 1 L*(Ch) ag,rn=65, 56,34
rgb*gn=1, 0, 0
red R,
9 steps
black Ny
L*(Ch) pg,nn=16, O,
1gb*n=0,0,0 o 10
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whitég=0,0, Y,=88,6
Tristimulus values of black and whitégn=2,2, Ywn=79,9, Yz5=18.

CIELAB ligthness L*

white W,
L*(Ch) ag,wn=91, O,
b wn=1, 1,1 yellow Y,
rgb*y,=1,1, 0
9 steps L*(Ch) ag,yn=84, 62,92
L¥(Ch) o y=88, 7192
black Nj

L*(Ch) ag,nn=16, O, O
rgb*y=0.0,0 ¢ 100

0 L*ABJND-chromatic value Gg

AEO10-3N

AEO10-4N

AEO11-3N

AEO11-4N

Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

Tristimulus values of black and whitég=0,0, Y,y=88,6

CIELAB ligthness L*

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,2, Yywn=79,9, Yz5=18.

CIELAB ligthness L*

Tristimulus values of black and whitég=0,0, Y,y=88,6
Tristimulus values of black and whitéyn=2,2, Ywn=79,9, Yz4=18.

CIELAB ligthness L*

white W white W white Wy, white W,
L*(Ch) ag w=95. 0, O 103 9 steps L*(Ch) a w=95, 0, 031?09 steps L*(Ch) ag wn =01, 0, L*(Ch) ag,wn =01, O,
rgb*y=1,1,1 —— rgb*y=1,1,1 ~ o rgb*ywn=1, 1,1 rgb*wn=1,1, 1
| I b ©)
|
9 steps gIeen G 9 steps cyan C 9 steps gIeen Go 9 steps cyan Gy
rgb*=0, 1, 0 rgh*c=0, 1, 1 rgb*p=0, 1, 0 rgh*cy=0, 1, 1
L*(Ch, =80, 100152 = L*(Ch, =77,87,152 —
black N Chasc black N L*(Ch) ag,c=T77, 64,214 black Ny L*Ecr\iii'ii 0, 100,152 black Nn L(Ch) ag.cn=74, 56,214
L¥*Ch) A =0, 0, 0 9 steps 100 L*(Ch) A n=0, 0, 0 100 L¥(Ch) ag nn=16, O, oo ST L¥(Ch) ag n=16, 0, O Llégh)AB'c_W’ 64214
rgb*\=0, 0, 0 0 ; rgh*\=0, 0, 0 ; rgb*y,=0, 0, 0 0 ; rgb*\n=0, 0, 0 0 ;
0 L*ABJIND-chromatic value Gg L*ABJIND-chromatic value Gg 0 L*ABJIND-chromatic value Gg 0 L*ABJIND-chromatic value Gg
AEO10-5N AEO10-6N AEO11-5N AEO11-6N

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIJND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with-*(Ch) pg in L*ABIJND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
L*(Ch) o w=95, O, 0&100

rgb*y=1,1,1 < 9 steps
LN

L*(Ch) ap g=46, 71272
rgh*g=0, 0, 1

9 steps
blue B

black N
L*(Ch)ag =0, 0,0
rgb*\=0, 0, 0 0

9 steps 190

L*ABJND-chromatic value Gyg

Tristimulus values of black and whité;=0,0, Y,y=88,6

CIELAB ligthness L*

white W
L*(Ch) ag w=95, O, 0&00

rgb*w=1,1, 1 ~32 Sl?ps L*(Ch) pg =62, 100332
i~

| rgb*y=1,0, 1
| ta M
9 steps magenta
black N
L*(Ch)agn=0, 0,0 9 steps
rgb*y=0,0,0 @ P 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,2, Yywn=79,9, Yzo=18.

CIELAB ligthness L*

white Wy,
L*(Ch) o wn=91, 0,
rgb*wn=1, 1,1 L*(Ch) ag g=46, 71,272
L*(Ch) g gn=47, 62,272
9 steps rgl;:Bn:O, 0,1
ue B,
black Ny
L*(Ch) ag,nn=16, O,
rgb*n=0, 0, 0 0 9 steps 100
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whité;=0,0, Y,y=88,6
Tristimulus values of black and whitéyn=2,2, Ywn=79,9, Yz5=18.

CIELAB ligthness L*

white Wy,
L*(Ch) ag,wn=91, 0, L*(Ch) pg =62, 100,332
rgb*wn=1, 1, 1 L*(Ch) amn=60, 87,332
rgb*yn=1, 0, 1)
t
9 steps magenta M,
black Ny
L*(Ch) ag,nn=16, 0, Of
rgb*n=0.0,0 @ 100
0 L*ABJND-chromatic value Gg

AEO10-7N

AEO10-8N

TUB-test chart AEO1; Affine colour metric for six device hues

AEO11-7N

input: rgb/cmy0 (No 1MR)

AEO11-8N
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http://farbe.li.tu-berlin.de/ AEOL/AEOLILONA.TXT /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
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Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space
Tristimulus values of black and whité=0,0, Y,,=88,6 Tristimulus values of black and whité;=0,0, Y,y=88,6 Tristimulus values of black and whité=2,2, Ywn=79,9 Yzz=18. Tristimulus values of black and whitéyn=2,2, Ywn=79,9, Yz5=18.
L*ABCh 5, data B L*ABCh 5, data
CIEXYZ data L*ABCh 5 data rgb% Ly Ay By Gugahaga CIEXYZ data L*ABCh 5 data rgb% Ly Ay By Gugahaga =

bt X Yo & X Ve |Lv A By Ged Msd| |[Ry10067 52 36 64 34 100 rgbt Xy Yo & oxg g |Ly A By Ged  Msd| |Rgy10065 46 31 56 34 C
Rs [100 (5528 36,99 067 0594 0397 67,26 5293 3637 64,2 éd éiggg :sgg ﬁo?éz Rq (100 (50,58 34,65 2,99 0594 0,397 6548 4641 3190 563 éd éig*;f‘, :;8% §§ 2;2 w
Yq |110(67,93 72,65 1,12 0479 0512 8828 -2,93 71,61 7162 C:Mlﬂ 52 -36 64 214 Y4 |110 (61,68 6594 339 0479 0512 8496 -2,60 6282 6282 c:ouu 46 -3156 214 =
Gy [010 (21,11 57,87 13,20 0,228 0627 80,66 -89,15 4566 100182 | [B, 00146 2 -7171 272 Gy [010 (20,62 52,97 14,06 0,228 0,627 77,86 ~-78,20 40,06 87,862 | [B, 00147 2 -6262 272 D
Cq |011(2891 51,60 9579 0,163 0292 77,04 -52,96 -36,36 64,244 | |Mq10162 89 -45100332 C, |011 (27,45 47,47 86,45 0,163 0292 74,49 -46,46 -31,91 56,284 | [My10160 78 -4087 332 «Q
By |001|1626 1593 9534 0,127 0,124 46,89 293 -71,61 71,@r2 | [N¢0000O 0 0 0 0 By |001 (16,37 16,19 86,05 0,127 0,124 4722 257 -62,82 62,82 | [N¢000160 0 0 0 a
My |101 (63,08 30,71 8317 0,356 0,178 62,26 89,12 -4566 lomgpe | [Va111950 0 0 0 -150 My |101|57,42 29,15 7538 0,356 0,178 60,91 78,15 -40,06 87,882 | [Va111910 0 0 0 -150 —
Ny [000[000 000 000 0333 0333 008 000 000 0,000 Ng [000 (211 221 241 0333 0333 1659 001 000 0,010 Q
W, [111|84,21 88,60 96,48 0,312 0,329 9541 000 000 0,00 A =250 X/ Xpes =Y/ Ypes] [1b] W,y 111 (7595 79,92 87,05 0312 0,329 91,65 -003 -001 0,09 A = 250 K/ Xogs— ¥ | Yogs]  [16] —
N1y [0,00 [0,00 000 000 0333 033 008 000 000 0,000 B =100 Y/ Yogs-Z/Zogs] [2b] N1 [000 [211 221 241 0333 0333 1659 001 000 0010 B =100 Y/ Ypgs ~Z/ Zpgs]  [2b] o
W14/1,13 |95,05 100,01108,300,313 0,339 100,00 -0,00 055 0,580 Cpp = [A°+B°]%° [3b] W14|1,13 |8546 89,94 97,42 0,313 0,329 9597 -0,04 047 0485 Cpp = [A°+B°]%° [3b] 5
21,0,18 17,20 17,99 19,49 0,313 0,320 49,48 001 009 0,082 hng = atan [B/A] [4b) 71,0,18 17,10 17,99 19,50 0,313 0,329 49,49 001 008 0,082 hng = atan [B/A] [4b] .
AEO10-1N AEO10-2N AEO11-1N AEO11-2N
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Yl=ap02

Ostwdatargb*, XYZ, and L*(Chyg, reflectionYn=0 & Ynn=2,52,Y\w=88,6, adaptationzs=18.
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